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qaql ¢ (1) MCQssil waiell yod Gdadlul o studl-l 6.
(2) ogwell ouyeil »is Usdl @l sald B,
(3) 3%l o>l saldl.

1 MCQ :
(1) Asl-sin vl iRl ugl ugdsl [l A 8l 254 :
(A) wabis vl (B)  slvisl vl
(€) 2iBa wal (D) A28l vl

(2)  Asl-sUA vl Al dlHdl su
(A)  Hldsd udedl (B) ilasdal
(C) sisll vl D) &l
(3) o (Bl Alddl a8
(A) uxl 2as (B) edu duesdl >Hias
(C) sl »tas D) [Rlag=sdl 21as

(4)  M4d 3oL ua vl 3. 25,000 A WIUR Ul WAL 3. 30,000
€l dl, d oelaMi a8l

(A) a4 ayald 3. 5,000
B) sl ayald 3. 5,000
(C) a4 aydld 3. 25,000
(D) 29l aydld 3. 30,000
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(5)  sHAls Wisse odladl susdl 59 ugladl Guulol 52 © 7
(A)  sH UgdR B) ulBul usdz
(C) oA uddz (D) %ol UgdR

(6) ol wdadl Gelloi 58 ugld vusladlmi 2 © 7
(A)  ulBul ugaz (B) 6™ Uid2
(C) bl iR (D) 54 UgdR

(7) Ol RS ol glbal Hizdl Yol Al U5 55 [Qoldsdl
AuLd9 ddl el ?

(A) 254Els Galled UsdR
(B) ¥si olisddldl w2
(C) % 82

(D) azel Hsaledl w2

(8) 5 ol e A 4yl 2Ansd 3. 1,000 A 3. 500 AuUsl.
e NN N €

s10UAL UL 4YEAL 60% At A adladl wal, slRuiAL Uddrel

25% AW GAUL 6lls A Usd U 20% 15l Adl €A dl el

[5ud o 7
(A) 3. 2,500 (B) 3. 2,800
(C) 3. 3,000 (D) 3. 2,700
©) uBu-l Raelul 56 [owd salaldl gl ?
(A) el (B)  HlARALMHLA
(C) uaLR D) u%3l
(10) onasHid ouslodld WBAAL [Raeldl  aly ddiaasi »id o,
(A) 2Ba vl (B) d2al-[Adel I

(C) siRuisl uer vl (D) usidl s vl <l

(11) elvd 536 sl 1,500, WAV Geuled 1,200 2541, A4 6118
BlUlE 536 sHIAL 10% i, dl AALHIRL 60Ul sl Sedl 7

(A) 300 54l (B) 200 54l
(C) 150 isHl (D) 250 is4l
(12) <12 U8l sul Gelomi wBFuL ugdedl Gualol adl Yl ?
(A) 2062 Gelldl (B) 33l Galol
(C) e Galol (D) o4 Gellol
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(13) uddz ddl $A ed

(A) sl WAL + A} 250 sl Agladl
(B) s+l [Bud 3slulsl <l
(C) s [(dd udadl o «Assl ¢y o,
(D) s BHd 20uHd af,

(14) o4 Gedml 59 ugld udidaidi »id © 7
(A) 52U YR B) uEA usdz
(C) bl iR (D) 6™ Yid2

(15) s-dl [Bud 3. 10,00,000 9. %+ 80% 414 Y&l 23 ©. Y&l add
sl 90% 1M Hle WHIRUAL 4Rl €l dl BieuslBld s seq 7
(A) 3. 2,00,000 (B) 3. 80,000
(C) 3. 1,00,000 (D) 3. 72,000

(16) 12l <. viid o4l dlid Asl 3. 1,00,000 % 2/3 &L 80%
vl Hol sl HIREL dRUEL 9. sAAL g4 Asl WML
(A) 3. 80,000 (B) 3. 1,87,500
(C) 3. 1,50,000 (D) 3 1,75,000

(17) 214 ddglz Hi2d UddR ¥
(A) e Bl €ls (B) uu-r €ls
(C) ua-r Al €ls D) Bl €l

(18) i agrt sdl 25 Susilalld usdd sy

A) Al €ls B) o+ el
(C) o+ [3Al. €ls D) 2l <ls
(19) l2A-midl 5O ollod-dl A4d Al Gelol «Ale =y 7
(A) ¢i2d (B) 3ad
C) Bl (D) usla wal

(20) 12 salde viAnidl sul WAL aHde R vRl ddd adl «dl ?
(A) dR% @l (B) s 24

(C) dleredl dlal (D) dléd HRAHA
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2 2ARE s w4 oMl sUR 3. 8,00,00041 dldl. dgl 1dl ha, 15
2013+ Ay st4 13 3, A uta Rl uel 31 W, 2014+ A%

Y2l ddl died s vid duIR s2U

[doia 2
5AR U HISAA HIARIHAUL weeeeeeeeeeeeeee e ee e eeeeeeeeeeeeeeenne 3,25,000
5 U HSAA Wllr2-oll (1-4-13) ool 80,000
Ol 1,70,000
AL WAL e, 40,000
BLEEARL BARL oot eeeeeeseeeeeeseeeseeseseseeseeeseeseeeseeseeeseeseeaseeseens 9,800
%YL UL HIAMLHAL Lo reeseesseserereneseneneenene 8,600
YHIBLA SIHAL 75% HHIBL MO 2U5S coureeeeeeeeeeeeeeeeeeeeeeeeeeenne 4,80,000

52U vlld GHIRE Aol 244 MLl 3. 6,000 Budni dsil

e 3. 7,000 Goadl Haumall 253l el WAl gl

31 W2, 20141 2% 3. 14,000+ ol doll 20241 Yrd sl
il gdl. s3dl uig UHIBD A 2dal siudl ugd 3. 27,000 edl.
dl. 31-3-2014+1 A% Aude uig <& Asda 493l 3. 8,200, ol

U 10% HARL ORI Assdl HREL 2/3 A5l Asl-suld vid 4l

ogciledl 9.
1Yl
2 M sRpsUd SUAR Gl 27 A9 dl. 31 HiEl, 2014+ A% Al 15
wildl yil u o -
(1) 2767l BBHA e, 3. 10,50,000
(2)  SRURL LEH e 3. 10,00,000

() sued s a3 sulddl Al 1 2llore, 2013

(4)  2H ysadiedl axdl, 252 avidiavid wHRd 53¢ sl 75%

WU 2 sy ad eusldl s,

(5)  suR sdl auid RulBe GEl e, 3. 1,00,000
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[dotd 3-

Wl2-Uoll 51 U HISGUL oot sss s 2,00,000
UL Al HYLL oo eee s ssesse st sss st ssssseneens 1,96,000
RRARHIUL HISAG  HUG oot eeeeeeeeeereeseeeeeeeeeeseeseseeeeseeeenns 16,000
5 M2 HIARHAL VIZLEL e eeeeeeeeseeeeneensenenees 55,000
HIARMAUL UL HUEEL oo eeeeeeeeeeeeeseeseensensensenens 1,000
LA VRILAL WHIBIA BUOL ovverieeereeeseeeeeesesssesessesssssesssseneens 6,000
HIAUHAL 52U wle 36HL HIEAL coeeeeeee e eereeseesenees 4,000
HAAHAAL 2215 (B1-3-14) ool 10,000
VL2 HRUM coveeeeeeeeeeeeesssssssssssssssessssssssssssssssssssssssssssssssssssenes 6,000
SRR B WEEL HOUL coveeeeeeeereeeeeeeeerereeeeeeesesseseeereeeseneeeeeeesenee 3,00,000
WHIBA A& 28 Sl B s 10,000

UE2L2AL wHlRUsL Hooledl [Bud Ul whldl 2Asenl waRul sl
2/3 oL AAsl-suld vid @ @A dl. 31 |2, 2014+ A% YU Adl
Qi 5A2 uvid otidl, AWl U 12% AL EARL dwRldllL 89,

3 s axdd Gouled el WBAwmiel vz w9 uBa - A uBu-B 15
uBul - C. gel-yel ulbasdl [Qoaidl «fla yoe ©

[dota ulsar - A | ulsul - B ulsal - C
SR 3. 27,000 | 3. 24,500 3. 6,840
w3l 3. 10,000 | 3. 10,000 3. 12,000
Al vl 3. 3,000 3. 4,000 3. 8,000
SIRUIAL YRleL Wl

(Hyg3lAL %) 200% 200% 200%
AU 6L 10% 10% 10%
colrAl Glux

(¥sHELs) 3.2 3.5 3. 10
WAUR Beuler sHl 9,000 8,200 7,200

ulbaidl u32ddi 10,000 2541, isuls 3. 54 Bud wlBu-
AML elvd 53al 6. wEael vidizl dui s
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W5 Gy isuHl Xel Gadledul guelal Y e Zs Gulest 15

g 9

AYsd vl

HLARLHAL v 3. 85,000

UYL e enaes 3. 90,000

SR LR E T ) 3. 75,000

edl vl A ol @

[dotd X 3 Y 3. Z 3.

el 25,000 12,000 14,000

Hoy3l 19,000 16,000 20,000

U3le viAlil 15,000 4,000 5,500
59,000 32,000 39,500

alel [Fud 3,00,000 2,00,000 1,50,000

islldd sl (dauel ul) 40% 30% 25%

A5l sHlddl W duRgls @A dud daa 53 edl AYsd
vl sinael suldd s duiz s3.

4 A eulddl wlRdl uwedl qAnasl usts quiz s 10
[doia usd il T
[Baueil [Baueil
< <
dulz Hldrdl w3lldsdl 22ls 26,500 27,500
dulz Hldrdl AuRAL 2208 25,000 23,500
SIRUIALAL URlE WAl 30,000 25,000
adladl vla vl 25,000 22.500
Auiel-fddel yla wal 20,000 23,000
ysad [elux ol - 2,500
wafs val widl aleil - 5,000
ysdd ldsdal - 25,000
Hold Ly - 3,000
Hod  sHae - 1,500
sl 1,76,000 ?

1Yl
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4 Al Rd uzel Amael uxs AUz s

duIR 2 d5l-gsin vilg

G. .
[dotd 3.| [Qoud 3.
YE HIGAIHIA 20,00,000 | A28l 55,00,000
ucda 13l 5,00,000 | vz 2218 9,50,000
SIRUIAL YRle vl 6,50,000
5L 8l 33,00,000

64,50,000 64,50,000
adladl vla vl 12,50,000 | sl +isl 33,00,000
qel-[d2el Rlag=s ueg 3,00,000
uzle vl 21,75,000 | o1y Hew 1,00,000
STICKETE) 80,000
wiads vl 75,000
siedl vl 25,000
SEN 95,000

37,00,000 37,00,000
Ysdl udAs :
[dotd 3.
B K K R 1 e K R 20,00,000
T UAHE MY et ssssessssssnses 5,00,000
WLAMHS  USA coeieieiieeeeceeeeeeerereeeteeese s esse s esssesesnssesessnssesenns 25,00,000
F SIRBIAL URLEL VAL oo seeeereeseeseseeeeeeeeneees 5.00,000
SLRVILAL  USAR cerierieeeeeeseeseesssessesssesessssessesssssessssssssesssssessssens 30,00,000
4 AGLASL UZUEL BIRAL oo seeeee e eseeseeseseeeeseeeeees 16.00,000
BRULETL USR 1virieieeeeererereeeeerenesesessesesesesesesenessssesesesssesssenenssssens 46,00,000
— AUR HIA UM LG oo 11,50,000
AAA HIATL BAUET USAR oreeeeeeeeereeeeeeereeseeeeeeeseesesseseesereeesenne 34,50,000
+ ARALELTAAREL URLE BIAL oo seeeeeeeeneeseeeesereeneeseees 20.40,000
SA UEAR tiiiiiiteeree ettt 54,90,000
F Bl ottt s e e e sa e sae e e e sae e 10,000
ARULEL ©.vveveoereeeseeseeeseesssssssssssssssssssssssssssssesssesssssssenssessssssssnssensens 55,00,000

A4 Anael wisdl azmid usddl Bl 3ol saldd sl sadl,
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5 welwem el sudl w3, 3,00,000<) [Buasdl =iy Hieowd . 10
adl A2 2uddl [Aoidl ueel BeliHledls usdx Ml :

A AU Sl — AUE e 3. 5,000
Ul WIEAN = AUS e, 3. 1,000
SSAAL UAUR = AEE e 3. 12,000
3% QUG — AUE oo 3. 6,000
2-HRAHAd WA - BAlMZRELS e 3. 1.00
U2LAL [H2RELE BUL 1ot eeeeeeeeeseeeeeeeaeeeeesenes 3. 60

1 (@22 uglami > oudl 15 Badlex 2ua .

AW AUIRS UYL e,

............. 2,00,000 [3dlslex

Alls a2 12,000 Basflex oudl el

VYl

5 o6l . 2074 adldl Rl s Sl slRvidlAl Uddrel

[Raloiuiel dami »iddl ¢ -

HLARLHL cooeveeereeereeeneeeresseneens
w3l

([Aeo1-X 60 sdls
([AeoL-Y 40 sdls
([Aa101-Z 20 sdls

A e vl

([Aeo1-X 3. 50,000
([AeoL-Y 3. 30,000
([Aa101-Z 3. 27,000

12 e vl

............... 3. 25,000

sdlsels 3. 25
sdlsels 3. 15

sdlsels 3. 40

2,500 slMelr selsl w12
1,200 1Ml selsl w12

900 $IMEIR Selsl HI2

10,000 Al slMedl sellsl HI2 el 3. 1,00,000.

Aot . 207+l g usdadl owlal s2.
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ENGLISH VERSION

Instructions : (1) Write answers of MCQs in main answer sheet.

(2) Figures indicated at the right side show marks of each
question.

(3) Show necessary calculations.

1 MCQ : 20

(1)  Amount recorded in Profit and Loss Account but not recorded in
Cost Accounts:

(A) Preliminary Expenses (B) Factory Expenses
(C) Office Expenses (D) Sales Expenses
(2) Amount not recorded in Profit and Loss Account :
(A) Owner’s remuneration (B) Income Tax
(C) Legal Expenses (D) Donation
(3) Income recorded in both Accounts :
(A) Interest Income
(B) Income from scrap selling
(C) Rentincome
(D) Dividend income

(4) Indirect expenses as per cost accounts Rs. 25,000 and actual
indirect expenses are Rs. 30,000 then, it will be considered as :

(A) Over absorption Rs. 5,000
(B) Under absorption Rs. 5,000
(C) Over absorption Rs. 25,000
(D) Under absorption Rs. 30,000

(5) Which costing system is used in cosmetic product manufacturing

company ?
(A) Unit costing (B) Process costing
(C) Batch costing (D) Job costing
(6) Which costing method is adopted by Gold Jewellery industry ?
(A) Process costing (B) Batch costing
(C) Job costing (D) Unit costing
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(7)  Which detail is not included to find out economic quantity of Batch ?
(A) Production cost per unit
(B) Plant fitting charge
(C) Interest rate
(D) Ordering expense

(8) In a job, material and wages will be Rs. 1,000 and Rs. 500
respectively. Factory expenses are added at 60% of wages and
office expenses are added at 25% of factory cost. What will be
price of the job, if 20% profit on cost is expected ?

(A) Rs. 2,500 (B) Rs. 2,800

(C) Rs. 3,000 (D) Rs. 2,700
(9) Which item is not recorded in process costing ?

(A) Donation (B) Material

(C) Salary (D) Wages

(10) Carriage outward is shown in Process Cost Account as :
(A) Office expense
(B) Sales and distribution expense
(C) Factory expense
(D) None of these

(11) Units introduced 1,500, actual production 1,200 units. Normal
wastage is 10% of units introduced. Find out units of abnormal

wastage :
(A) 300 units (B) 200 units
(C) 150 units (D) 250 units
(12) In which of the following industry, process costing is not used ?
(A) Rubber Industry (B) Dairy Industry
(C) Soap Industry (D) Construction Industry

(13) Cost plus contract means .........................
(A) Contract expenses + some percentage of profit
(B) No change in contract price
(C) Contract price is fixed from the beginning

(D) Contract price increases automatically
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(14) Which costing method is adopted by construction industry ?
(A) Contract costing (B) Process costing
(C) Job costing (D) Batch costing

(15) Contract price is Rs. 10,00,000 and 80% of work of contract is
completed. Certificate from architect is received for 90% of work

completed. What will be the value of uncertified work ?
(A) Rs. 2,00,000 (B) Rs. 80,000
(C) Rs. 1,00,000 (D) Rs. 72,000

(16) Profit of a contract credited to P and L Account Rs. 1,00,000.
This amount is calculated on the basis of 2/3 of 80% cash receipt.

Find out total profit of a contract :
(A) Rs. 80,000 (B) Rs. 1,87,500
(C) Rs. 1,50,000 (D) Rs. 1,75,000
(17) The cost unit for tram transport :
(A) Per Ton k.m.
(B) Per passenger
(C) Per passenger k.m.
(D) Per k.m.
(18) Cost unit adopted by the goods transport companies :
(A) Per km. (B) Per ton
(C) Per ton km. (D) Per trip

(19) Which of the following is not included in Operating Industry ?

(A) Hotel (B) Railways
(C) Theatre (D) Publication Service
(20) Which expense is not considered as fixed expense from the
following ?
(A) Garage Rent (B) Road Tax
(C) Vehicle Insurance (D) Vehicle Maintenance
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2 Rahil took a contract to build a building at contract price of 15
Rs. 8,00,000. He started to work on 15t April, 2013. From the following
details, prepare Contract Account for the year ended 315t March, 2014.

Particulars Rs.
Materials issued on contract................................................. 3,25,000
Plant - Machinery issued on contract (1-4-13) ....................... 80,000
Wages ... 1,70,000
Direct EXPenses............ccoooiiiiiiiiiei e 40,000
Indirect EXPenses ..............coooviiiiiiiiiieoie e 9,800
Materials at SIt€ ... 8,600
Cash received 75% of work certified ................................... 4,80,000

From the plants and materials issued to the Contract Account, plants
worth Rs. 6,000 and materials worth Rs. 7,000 were destroyed in

accident.

Plants worth Rs. 14,000 was returned in stores on 315t March,
2014. Value of work uncertified was Rs. 27,000. Due but unpaid wages
was Rs. 8,200 on 31.3.14, Calculate 10% depreciation on plants.

2/3 profit on cash bases be transferred to Profit and Loss Account.

OR

2 The following details have been given by Om Construction for 15
Contract No. 27 on 315t March, 2014 :

(1) Tender Price..............ccccccoooviiiiiiiiieie Rs. 10,50,000
(2) Contract Amount .......................ccooeeieeiiiieee Rs. 10,00,000
(3) Contract work started on 15t August, 2013

(4) Condition for payment, 75% amount of work certified by Architect

and remaining amount will be paid after completion of the work.

(5) Deposit paid at the time of contract ................... Rs. 1,00,000

Particulars Rs.
Plant-Machinery issued on sit€ ..........................oooieneii 2,00,000
Salary and Wages............ccccooiiiiiiiie e 1,96,000
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Material issued from stores ... 16,000

Material purchased for the contract .......................................... 55,000
Material returned ... 1,000
Proportionate overheads expenses .............................cooooe 6,000
Material issued to Contract no. 36 .......................................... 4,000
Stock of materials (31-3-14) ..., 10,000
Plant repairing ...............c.cccoooiiiiiei 6,000
Cash received for contract................ccooooiiiiiiiiiiiiiieieieeeieeee 3,00,000
Value of work not certified ... 10,000

Prepare Contract Account for the year ended on 315t March, 2014.
After 2/3 portion of profit transferred to Profit and Loss Account on
proportionate profit on cash basis as per certificate issued by the Architect.

Charge depreciation on plant at 12%.

A production passes through three process. Process A, Process B

and Process C. Particulars of the different process are as under :
Particular Process A | Process B Process C
Raw material Rs. 27,000 | Rs. 24,500 Rs. 6,840
Labour Rs. 10,000 | Rs. 10,000 | Rs. 12,000
Direct Expenses Rs. 3,000 | Rs. 4,000 Rs. 8,000
Overheads : Factory

(% of Labour) 200% 200% 200%
Normal waste 10% 10% 10%
Scrap Value

(per unit) Rs. 2 Rs. 5 Rs. 10
Production in units 9,000 8,200 7,200

In the beginning 10,000 units @ Rs. 5 per unit were introduced
in process-A. Prepare Process Accounts.
OR
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3 During production of X, product Y and Z are obtained as by - 15
products in a manufacturing unit.
Joint Costs :

Material ....................................... Rs. 85,000
Labour ..................................... Rs. 90,000
Overheads ................................... Rs. 75,000

Separate costs are as under :

Particulars X Rs. Y Rs. Z Rs.
Material 25,000 12,000 14,000
Labour 19,000 16,000 20,000
Overheads 15,000 4,000 5,500
59,000 32,000 39,500
Sale 3,00,000 2,00,000 1,50,000
Profit estimate
(on sale) 40% 30% 25%

To increase profit, company had launch publicity and sales promotion

campaign. Prepare statement showing allocation of joint cost.

4 Prepare Reconciliation Statement from the following data : 10

Particulars In cost|In financial
Account Account

Rs. Rs.

Opening stock of finished goods 26,500 27,500
Closing stock of finished goods 25,000 23,500
Factory overheads 30,000 25,000
Office overheads 25,000 22.500
Selling and distribution overheads 20,000 23,000
Debenture interest paid - 2,500
Preliminary expenses written off - 5,000
Income Tax paid - 25,000
Interest received - 3,000
Commission received - 1,500
Profit 1,76,000 ?

OR
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Prepare Reconciliation Statement from the following information :

Trading and Profit and Loss Account

Dr. Cr.
Particulars Rs. | Particulars Rs.
To Direct Material 20,00,000 | By Sale 55,00,000
To Direct Labour 5,00,000 | By Closing Stock 9,50,000
To Factory Overheads | 6,50,000
To Gross Profit 33,00,000

64,50,000 64,50,000
To Office Overheads 12,50,000 [ By Gross Profit 33,00,000
To Selling — By Dividend received 3,00,000
Distribution Overheads |[21,75,000 | By Interest received 1,00,000
To Bad Debts 80,000
To Preliminary expenses 75,000
To Legal charges 25,000
To Net profit 95,000

37,00,000 37,00,000
Cost Sheet :
Particulars Rs.
Direct Material ... 20,00,000
+ Direct Labour...................cooooii 5,00,000
Prime COSt ... 25,00,000
+ Factory Overheads ..........................cccooiii 5,00,000
Factory Cost ... 30,00,000
+ Office Overheads ......................cooooi 16,00,000
Cost of Production ................cccoiiiiiiiiiieiiiiieeeeeeeeee e 46,00,000
— Closing Stock of Finished Goods ................................... 11,50,000
Cost of Production Sold ... 34,50,000
+ Selling and Distribution Overheads .................................. 20,40,000
Total COSt ... 54,90,000
F Profit ..o 10,000
Sale .. o 55,00,000
Note : Start Reconciliation statement with profit shown as per Cost
Accounts.
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5 Maharaja Travels Company own a motor car worth Rs. 3,00,000. 10
From the following details, prepare Statement showing Cost per k.m.

Road Licence fee — Yearly ............................... Rs. 5,000
Insurance Premium — yearly .............................. Rs. 1,000
Salary of the driver — yearly .......................... Rs. 12,000
Garage Rent — yearly .................................... Rs. 6,000
Tyre-maintenance per k.m. ............................... Re. 1.00
Cost of petrol per litre .........................ooooi Rs. 60
Average k.m. per litre.................................. 15 km.
Estimated life of car.................................. 2,00,000 k.m.
Estimated annual running of car .................... 12,000 k.m.
OR

5 The information given below has been taken from the costing records 10
of an engineering work in respect of Job No. 207 :

Materials ... Rs. 25,000
Wages :

Dept. X 60 Hours @ Rs. 25 per Hour
Dept Y 40 Hours @ Rs. 15 per Hour
Dept. Z 20 hours @ Rs. 40 per Hour
Variable Overheads :

Dept. X Rs. 50,000 for 2,500 Labour Hour
Dept. Y Rs. 30,000 for 1,200 Labour Hour
Dept. Z Rs. 27,000 for 900 Labour Hour

Fixed Overheads :
Estimated Rs. 1,00,000 for 10,000 normal working hours.

You are required to ascertain the cost of the Job No. 207.
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